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[J O create table test_clob ( id number(3), clobcol clob) create table
test_blob ( 1d number(3), blobcol blob) lobd 00 0O O O 10 0 O O
OO0000000Oclob O public static void clobinsert(string
Infile) throws exception {/* 10 O 10 O OO O OO */boolean
defaultcommit = conn.getautocommit().
conn.setautocommit(false). try { /* 0 U O U O O clobd OO */
stmt.executeOupdate("insert into test_clob values ' 111°

empty clob())")./* 0 0O O clobd O O O O */resultset rs =
stmt.executequery("Oselect clobcol from test_clob where id=" 111



for Qupdate"). while (rs.next()) { /* O O U clob OO */
oracle.sql.clob clob = (oracle.sql.clob)rs.getclob("clobcol”). /*
O clobO O OO O OO * bufferedwriter out = new
bufferedwriter(clob.getcharacteroutputstream()). bufferedreader in
= new bufferedreader(new filereader(infile)). int c. while
((c=in.read())!=-1) { out.write(c). } in.close(). out.close(). } /* I [
O O */ conn.commit(). } catch (exceptionex) {/* 0 0O O O */
conn.rollback(). throwex. } /0 00 0O O OO */
conn.setautocommit(defaultcommit). } 100Test LI [ I O 00 OO [
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